HW1.xls

Homework 1.2  For Xstress = 300.0,

Ystress = 400.0
Homework 1.3 For Xstress = 30.0,

Homework 1.1  For Xstress = 3000, wyShear = -200.0
Ystress = 0.0 Center = 350.00 Yztress = 45.0
X¥Shear = 500.0 Angle = 52.02* X¥Shear =18.0
Center = 15l].l][! Streszl = 556.16 Center = 37.50
Angle = -36.65 Shese? = 143.84 Angle = -56.31"

Stress1 = 672.02
Stress2 = 0.00
Stress3 = -372.02

Stress3 = 0.00
ShearMax = 278.08

Stress1 = 57.00
Stress2 = 18.00
Stress3 = 0.00

Shear Stress

ShearMax = 522.02 400 ShearMax = 28.50
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